
 

Radical Equations

Example VT 4 It is easyto see that x
mustbe16

but we could also see that

Tx 4 x 16 since Ex
1242

Exampley TXT 2 It is nothardto see x 5
Since VIT Ty 2
We can also see it this way
4 7 2 THE22

X t 4

Example Fit 3 15 It is hard xseesw.ua 4 true

solution is without work
isolate T Fat 3 15 off 12

X l 122 x 14

Example X 57 I Almost impossibleto see
without work

Isolate tf 37 It X

f IF
2

l XT I xx't X
Thisis a 3 5 1 2x tX
quadraticequation 2 5 6 0

X 3 CX 27 0
3 X 2 or 3

This says If X EE 1 then x Zor 3
It doesnot say X 2 3 are solutions
Wemust check 2 5 2 51 1 V

3 ITES 3 if l V
So 2 and 3 are solutions



Example IF 2 X C25 4
But if 2 1 2 So there are

no solutions
Examples 2 X VFX

2 x 5
2 x 6 5x
F 4 4 6 5x
2

X Z O

CX 2 Cx 13 0

Xt 2 0 or

X 1 0

3 X Zor I

But 2 iffy 6 2

and I F 01 2

So there are n solutions



Example X 2 25 7 X

2x 2 2 7
3 X I xtF
7 2 2 1 Xt i

R 3 X 0

x 37 0

X O or 3

But while 3 2 257 3

272 roti O

So there is one solution

X 3


